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<K Hi> Some
1 Tz 61) ¢+ All of the boys told me a story.
2 ZFEEX Five
3 RIERAAHN W ADD
4 RERISC 7 EE G (a) iz { FxXTw
5 N0
5 % 2 VENOENEFNRER 5725520 412
EIRAYAN
FEsomeld (N EDOHE % £+ KD W ADD
mHEP &, (bheadword TH ANIZE T 5 &£ (b) Faix | T
EDHHEG R TERFNEHELEDYDH 5, 5 AD
69 Some people are sick. VN GE U—205% 3 4 1 2BV 72,
(a) FHEDAAMTAAN D, [58E1 [ sm]] W ADD
(b) HHHD N2 BIZEAHNEN, (¢) 1 F~xTD
60) I want some apples. 5AD

(@) DAZTE VLDV,
(b) HAHHDH ATHKL Vg

VEDPE LFh%E—#IZ > TEFELTL
n7’z,
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BEFDDWIENPERTEEDZRA 2 N—
RS LT, FOREBFAOIERE X HAE
DONPH R - 7f8mWE H O b &)
AR DT, BHREIAEL S, RO
1%, someDfERIZEENALOL( A
R TS LT, Sl ) OFRADEETH
% (KH : 53, &K - 78 : 156),

(a) the boys, me, some (told, a story)

(b) the boys, me, a story, some (told)

(¢) the boys, me, a story, told,
some ()
Bl & O WS ROMEFISEET 2 &ldAn]

e O TANIATTTH S,
% (d) the boys, me, told, some (a story)

F7-60% ZTEFEIZT A &, a story {d some
(all, five) OIEAZEZF%VOT, [FL—
D] LV BERIZL M ENL WV,

Cf. A story was told me by some (all,
five) of the boys.

B ol BEFANPERL CHONE &,
BEEREREI P HATET, BT A
L5,

62 I told three of the stories to many
of the men.

(a) MLEZ20FA2RLT7V—TDE{D

ML, [WHE SHE ]
(b) BHED=20% % DN THE ]
L7z,
63 1 told many of the men three of the
stories.
(a) FLEZ20%FELI7NV—TDELD
M L7z, [ & bFEE - (62a) 124
U]

(b) BHEDTINV—TD% DN
EhENERLD) =ODFFT L7,

“OoOHREADH B, LERICHET 2 HE
S aSONPAY [HEDOAN, D] 2RI,
FEZOOBIII G EET A #EH S ST
BTERNPLEDLL I EHRRLTVE, (FIAK -
e 157),

(#H A

(64 Every man loves some woman.
(a) For
woman such that he loves her.
(TRTOBHRIE N2 LML ET
%)

(b) There is some woman who every

every man, there Is some

man loves.
(TRTOBIET D L) L REF D)
Every man @{*ﬁﬁﬁﬂi@#ﬂ some woman
eI L BRTL(R)DOERIZ, some
woman 0)1’5%@20)43 every man 7%& &
N5 &R IULb)DERIZ % 5, 6413{a)D
N ﬁ#éh%@?ﬁ‘jﬁ Th b, THREZ

B EDDFEANEETHS (KH : 7081,

Cf. Some woman 1s loved by every man.

e U RBIIESMHA(Collective
reading) & EFIAYFA (Individual reading)
4 L A EE A (Distributive reading)
DA FEZR 728, BEBR AL 5,

65 The three students could lift the desk.

(a) The three students together could

lift the desk.

(b) Each of the three students could lift

the desk.
66) Three students could lift the desk.

(a) A group of three students could lift

the desk.

(b) There were three students who could

1ift the desk.
67 All of the boys carried the piano
upstairs.

(@) EAQHHLTCET /% 2FIEATLL

(b) — A—ADHMTEA,

68) Five rabbits washed a rock.
(a) 5L & XA [2-3,14,2-2- 1D H
EbET] —D2DAEEST,
(b) HPLDH) S EVENENA -7,
(68a) 22\ T%H (321) idvague 2

(R E LT3 )27 TH > T, ambiguous
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TRV ELTVS, WFRIZL THEIEE
Gt ERBIFRADTRET, ZORD TILEE
BRTHDHEVH)ZLIETE S,
BEFZzEUCXOTEHEIL ‘theme &
‘rheme’ DRV EDLLDT, ZOEKRIZ
DL ERL D,
9Xa) Every member speaks two languages.
RBIIAAL 2DEFEEXFET, [ 2H
EFIE WA WE LA EHEATEE ]
(b) Two languages are spoken by every
member.
TRTORENFEE L EED 2 »EGE
bbh, [FHED_O>DOEEE
(70fa) Many people read few books.
=There are many people who read few
books.
(b) Few books are read by many people.
=There are few books which are read
by many people.
FHEIIBDHDIIFEDLDTH L5,
REOEWIZ L > TERE () #EbdLw
I L, TOXDERIZERNFEL TS
V) LI, AEIOHBEFLRB L ITE
BINZBRD S 2 DI TIA WA, KD L9
ICHETFSRIF E e T, ZH)
EIC L > TERIE DL 1L, FHICH
fETEHTHHH,
(71Xa) The doctor cleverly has examined
John.
EHEIIEHIZH ] 2B 8L 7

doctor is clever.)

(The

(b) John cleverly has been examined by
the doctor.
INEZBIZZTL Lo -DEEHZ -7,

(John is clever.)

6 tEEKIR

[B] 55 B R DG % <not so~as> i,
BIRSEEBRTH 5,

72 Mary is not so old as John.

(a) Mary is not as old as John.
(b) Mary is not so old as John.

(A ZMEEDFA TdH > T, not [ZHEAE
224, Mary 24 %, John 286D X 9 7%
WEWY, F7-Mary 2°825%, John %854
DEILBEEIILHwENE, DF D,

‘Mary is old. John is old’ %Hi$g& L
TlIwevy, (b ‘Mary is old. John is
old’ Z AR E L7zMIKT, so lZBEHED
nn (KH :444),

ERED &9 BT X ) RD &) 2 AHEDS
L%,

(73(a) Little Mary is not as tall as a
pygmy.

* (b) Little Mary is not so tall as a
pygmy. |

(73b) 23X % D it a pygmy 7 tall TH
BEVHFIRVBNLWALTH S,

(74 John knows a kinder person than

Ball.

(a) Bill may be kind but John knows a
person who 1s kinder.

(JEBEW B Lo BB AZH-T
W5)

(b) John knows a kinder person than
Bill does. ;
(JEBPHI-TWAALN b o &8
P NeHoTw3b)

(759 He loves the dog more than his wife.

(a) He loves the dog more than he loves
his wife.

(b) He loves the dog more than his wife
loves the dog.

@E L his wife D Y 1T L5 % (F
I %51, (ADFE L her, (DDA 1T she
THWTRHTE 52, her # V7234,
b)DEREZERT I LHTEXLDT (than D
%TiEshe LD b herFENZ), 2L
bEFPES L) bIFTId RV,
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@) 1 know more attractive women than

Annie.

(a) I know a greater number of at-
tractive women than (the number of)
attractive women Annie knows.

[ more=* more many ]

(b) 1 know women who are more at-
tractive than Annie (is)(attractive).
[ more=Degree adverb ]

77 1 expected nothing less than a cyn-
ical remark.
(a) FACOHWIEEDLNEEAH ERIEL
Tw:7z, [ nothing=Adv. less=N. ]
(b) FEPERESONL) LEEDLLEYP-
72o [ nothing=Pron. less=Adv. ]
COD" (sv. less) 2 &g, BHETIE @)D
FHHEEOEERTH S (H - 281),

LERE L WBRSHAEDL S o/ ERLD X
A BRI EFEFEFEV AT THY), )L T
FD L) BRI HODGREIIIE Z TH
TOHED IR DT, fiR, o’
REEMLUTARRLTLE) 2R b,
()7 &WdFE S FOET, ST HOOEDD
Mmothing 2RI 2 O P AERLHA 2O %
HwARBZ LI LIS LIEARTTRETH S| Lt
BIFCTwa, 72721, [F#FIL “ The combi-
nation nothing less than has two quite
contrary senses” & HHMEIZAR~, [ U B3
FEIT TV A DT TR WY, (2l ‘quite
equal to, the same thing as’ D EIR, (b)
& “far from being, anything rather than’
DEFIZEHPL TS (sv. less: A, TI.
7.b., B.3.)s

BEHETHCERBIIBNTE, KO
SNMEKRTH -7, most A HEEF & LT
Huon/z 552 eHbDT, BERS %
HEAET,

(79 The rioting was not the worst in New

Jersey.

(a) The rioting was not the worst in
New Jersey ; it was worse in New
York.
(REH—FOED > 2DENITIE 2D
>72)

(b) The rioting was not the worst in
New Jersey’s history.
(ZDORENINIE LiED S DOTIET %7
-72)

79 This flower i1s most beautiful.

(a) This flower 1s the most beautiful
(of all).

(b) This flower is very beautiful.
[most=very : Intensifier ]

80 Of all the people in the class, John
greeted Mary the most warmly.

(a) John greeted Mary more warmly
than the rest of the people in the
class did. [ F X ®John|l iR Eh & {E 72
Be ]

(b) John greeted Mary more warmly
than he did the rest of the people in
the class. [ Bl DO Mary (25 % & W
T ey

BOIXBY A & (of-phrase) % HIET 5 Z &

Lo TESNDLLDED, BYIZIL(80b)D

BIRL D%\,

®1) John greeted Mary the most warmly
of all the people in the class.

E AN, BEEZEIAIE L 72621213 (80a)

DEWL A7 (B - 578 - 190f.),
82 Mary was greeted by John the most

warmly of all the people in the class.

7 BFREAESAN

WbhWa Tt ... that DX TY, Bk o
72RO TIE, B o 7S & B
RV EE b,

83 It’s the woman that [ who ] cleans the

house.
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(a) FNERZRREL T<NALTT,
(b) REWHET HDIEZDHLDNTT,
(83a)ix “Who's that?” 2% %2 53X T,
g & &4 RS 5, [LERTHBRIG O

REFTHY, house |Z7hE A <, (83b)
360218, “ Who cleans the house, the

man or the woman? " (% 2 %5 X T,
B EEC ORI TH S,
B4 It frightened the child that Ross
wanted to visit the lab.
(a) That Ross wanted to visit the lab
frightened the child. [ Cleft énalysis ]
(b) The child, whom Ross wanted to
visit the lab, was frightened by X.
(¢) To wvisit the lab frightened the
child that Ross wanted. [ Cleft anal-

woman

ysis ]
(84b) DX LIADE@L}ITF:E\“[#\& o Ty
LHHEMTH D, BRI ETERIC L AHEE

A% wanted DRIZHLETLHHERTH A,
(84c) DBFUIBLFRIYIIZTEESSAS, T O

BB A E bl T A (Hirst -
147) 4

®5 Mary believed the rumour that John
had started.
(@) MIZIDBEVH LA E L7,
[ that=Relative pronoun ]
(b) MILIAHFE L 72 W) EEAE L7,
[ that=Conj. ]

A\

the rumour

J. start the rumour

(b) NP

the rumour /\
®6) Those are the boys that the police
debated about fighting.

(a) The police debated (among them-

selves) about fighting the boys.

(b) The police debated with the boys

on the topic of fighting.

BOD BALRFAFI I IEER & U TBIfREASA D
BAEFX vy TERODZ 2 TH 5,

Those are the boys that the police
debatedAabout fightingA.

Dwugmm@:o@%%étéﬁ,w)

L0 ZQ@Q)DF OWEE R IFA T AETA B 5

DT, LD [EBEZPEST-LOHFL LT

Y ZExmlHooDIZHDVEL ]

&) (A)DEEAD— W) TH A (Hirst @ 156),
(a) [ Agent debate about Object ]
(b) [ Agent debate Patient about

Object]

BIGREIEI AV E 7% 7
ZENEZ B,

87  Which boys did the police debate A

about fighting A?

ZHUZxt LT ‘warn’ (I TFRED(@)DHEE
ZIFA T AEIF 2O T, UIHEBEZ LTIt
HAHN, EBLOML)—HEH R BRI
Thb,

a) [ Agent warn Patient about

Object ]

DT ERED



70 A

(b) [ Agent warn about Object ]

88 Those are the boys that the police
warned about fighting.

(86~ @) THEyEA AT A THL S HiE (Lexical
preference) (DWW THlNL/=AS, T &k
B BRD B B kT HTE (Final Expected
Argument) IZ2WT—FLTHB &7\, £
i, B o8 )5E UG (B) THW
Ll i, BoTHRITL20% 8T L0
RO HTH S,

89 The tourists objected to the guide
that they couldn’t hear.
( [ Agent object to Patient ] 284FfA T
v b ED
00 The tourists signaled to the guide
that they couldn’t hear.
( [ Agent signal Patient Message ] 7%
FATHWHNLAE)

I TiIguideDSTMIETH 5 L, that LAF
IBIRFIET L IR ENLDTH D75, 00TIE
guide (ZTWAIATIE VO T, that LT IE L
DL EBRL 2T RS, Lidwvo
Th, XOFID X S 12 Lexical preference T
FHT TR DT TR,
©01) The tourists signaled to the guide

that they didn’t like.

Lexical preference (5 M4, [ signal
Patient Message ] O #l) ’C“Eﬁﬁl ENH &
Sl wvwe &, FHAFIiESyntactical
preference DFNEAFEH T HZ L IZ% B THh
Ao 0D <that-Hi > I L TIE %<, B
BEAE IS EA X /RO TH 5,

FEOEBRER EIEICHES 5 2RV
FETIE, ZOX) R LB TR
BhRENBZLIHCDbT I L3I IHLHZ
ETHAH, 0) Ok H %LIE ‘Garden-path
sentence’ (B/NEEC) EIEEN, Ax&ED
HHLTIED DA, EHRTITR Y,
©2(a) The cotton clothing is made from

comes from Mississippi.
(b) The horse raced past the barn fell.

BREICFEEEBSER TH L0, €D
AR EDUAREERIERIZ R BB 2 BT
B,

©3 The Japanese push bottles up the
Chinese.
(a) HARBOKBEBPHERERZHIZ ZE,
(b) HAMIZFEMZELIL DTS, (7)

8 BEERH

FE T A B CHEBR A U, S5 1ZHER
LHEORFAPEEXFICHCONE L ER
ERAE L CHMEIL R > TL B, ZOMER
BT E AL LIF-> TV AHDIEKHE (1980)
T, LTFoflcd REGFEELSHEH LD
DTH5b,

8.1 not DIEAE

049 John didn’'t see a misprint.
(a) J SR 7RRMA—Dd o 72,
[ a misprint IEspecific ]
(b)  JICIEBHARON L LD 272,
[ a misprint {& non-specific ]

R EREDEIAHEL TH-TH, HEY
EICR o TVAARENPII ZHRICHE SN D
DT, ZONPREBEEFHFOIEH X ZIT Tz
WwWeEZLNS,
©5) Fred doesn’t write poetry in the garden.

HIENTEL, bbAA, TOHEEDNTAN
THLLEBBIZHANLND DITTIE RV,
WEIRIZ Fred 2 HIZ > T A &3S,
ROZKHEEONDETHD ),
(a) It isn’t Fred who writes poetry in
the garden.
(b) It is Fred who doesn’t write poetry
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in the garden.

(a)d “ Who writes poetry in the garden?”
EVOWATBET S L) RBHEHTOEST
BEEHECEEINLD3 L, (bid “ Who
doesn’t write poetry in the garden?” & \»
I EWICH T B INE TEHEAHRICE I NS
(KH : 252),

8.2 No NP

06) I will accept no reprisals.
(a) T will accept there being no repris-
als.
(HELLTELALW)
(b) 1 won't accept any reprisals.
(EALHEL ST AN W)
07 No news is good news.
(@) N DLRVDORRWXD,
(b) EDED (Za—R) XL v,
©8 John would be happy with no job.
(a) John would be happy without any

job. = John ... happy if he had no
job. = With no job, John would be
happy.

(b) John wouldn’t be happy with any
job.
= With no job would John be
happy.

96)~08)D(aNIERLFE T E TnoDIE A 13 NP
WEIZEEEF->TBY, DIEXEET, &
JEfFno DIERIEXEERIZRA TS, <No
NP> EOXEHEBEDL HIIIXEEELT
BRT L2 EMMRIESESNDE DL, <no NP>
MXOBEOHBHEE IS TAHEET, M
POEEICBS L 2 WA IR L b UEE
DIFFIIE % 5 7% (KH : 368),

DToA4ABITNTNEERELTET, <no
NP>z &L X TOMBR S A v, BEHIL,
no AVFFM ) OREF TR L, HIKRE - 1B
HEIZH SR TWAERLTHA D,

©9a) He’'ll be back in no time.

(b) To no purpose Tom beat his wife.
(¢) T bought it for nothing.
(d) He stops at nothing.

(MHVBFE R0, FRTMTLTH)

8.3 Nothing

(i) Nothing agrees with me better than
oysters.
(a) Eating nothing agrees with me
better than eating oysters.
(b) Opysters agree with me better than
any other food.
(DM ELET, OPLBFETDH 57,
WU IR T 2 2 SUIR IS K B
(1) T expected nothing less than a cynical

remark. [ =77) ; Fi§ ]
8.4 HBEIF+EE

() John didn’'t solve one of the prob-
lems.

(a) JIXHED ) b—2%nkh o7,

(b) JIXMEDI -2 &2 bMA LD -
726 [ one (25R%: ]

() T didn't solve three of the problems.

(a) fRW-REIZ/- 72 =ZDTld kv, (1
didn’t solve three of the problems. I
solved all 6f them.)

(b) M#EZ=D2bM0%h>7, (I didn't
solve three of the problems. In fact |
solved nonme.)

M Z N2 2 EERTIE R, Fuv/-f
HOBERELTEBY, LPOEAITER
IS NDGEEHERBIFGINLGA
EHDB, L, KFEOEEHNEH LME
T, KEZF#HLLHL TV A TRHEIZES
(378ff.),

8.5 ABEHFH+many

() The target wasn’t hit by many of

the arrows.
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(a) MUYz RIZHT VL DT,
[ many2SnotDIVEAIBIZH 5 ]

(b) KDL IFWIZHIE b o Tz,
[ noth many DIERIHICH 5 ]

() BEBEE (L 6b)Tid 2 <, (165:)TH B &
Laithidebhwv, 2E8%5, SHED
not & many DL E DA BRIE06) & Tl
Clwa) ERIBLTEY, LoT, HBERL
manyDEHBLXfIG T A Z Ll A6 T
HbH, LHPLZORICELTIIRERmID S
(KH : 357f.),

(5Xa) Not many of the arrows hit the
target.

(b) Many of the arrows didn’t hit the

target.

(106X a)
the stories.
(ZOWFER D EDBFHL TR L LD
ToADT2 S AVE) [ BRERE ]

(b) I told none of the stories to many

[ told many of the men none of

of the men.
(KBONZFE LT —2 b B\v)
[ E ]

() T haven't read as many as five books.

(a) 5MIORIIFHAT RV, [ LDE

WD FEA ]

(b) FE Lol ARKBMLH S,

(1061363 C F. 7z & 9 IS GHEEBE (Dative
Shift) &/ LAt O iR A7) H 1E T B KR %
ThRTNERSRVWEHERTLDOTH D
(FPA - B57E - 154), (0)ix8 4T3 TIZEHMD
Bl iho 72,

8.6 EEE+all

(18) All men are not wise.
(@) T XTOANTEL RV,
[ alliXcollective ; VPTRE |
(b) FTRTDOADNFE DT TlER vy,
[ alliZdistributive ; & |

(=Not all men are wise. = It is not

(the case)that all men are wise.)
(1) John couldn’t solve all of the prob-
lems.
(a) EOREDSWRT 2, o7z,
(b) MIE% AT 72D TiE R,

8.7 BEH+any

(1) He doesn’t lend his money to any-
body.
(a) FElcdbEzHI BV,
[ [ lend his money to somebody ] &
V) VPOEGE ]
(b) FEIZTOLEERTHIITIER
[ [ he lends his money to anybody]
(FECTHEEFET) LV I SERLE ]
ROZBNIEET L EE 505, any HYEE
SEEETAEHEET S L E, BRIHL
CaBITH 5L,
(1) Can anybody swim the channel?
(a) FOUFIEZFEPHKITD D DTS,
(b) & DEIRITFHET kT 5 D
(1) If anybody can swim the channel, I
can do 1t.
(a) HEHITHEDIL, FRERTS,
(b) FETOLEKITHDRG, AL KITA,
<Any N>, INOEEDO X 2N —] 7
WL [EEOBEON] #EKL, £0iR
NP DOFEFEERIE S e v, (KRH - 316),

8.8 ABEEHH+PP

(13) He hasn’t lived there for three years.

() ZTIMEATHELL T 3FIRERV,
[ VP [ has three
years ] D/ E, “for three years” O
for I TE L, 2D PP iIZVP—-VP
PPOPPTH 5]

(b) ZIIFEFHLoTHhLIFIRA,
[So [he hasn't lived there] (H5EX)
DHFHAM A3 HE/ZE Vo TRHDTH
h, “for three years” i¥ So—>So PP

lived there for



Syntactical Ambiguity (22T (2) 73

DPPIZHTY, HEZ &AL LMK
5]

BDOPPIXFFHIEZ KT DO TH %A%, 2
g (BEEE) 25 5 b 3PP GoER: & dtie
LCREkOEHE 2T 5,

(14) He didn't walk for ten mils.

(@) 10 A MidEherotz, (8,94
Wiz Tz Lt v,

(b) FRATHIOR A NDOBH I HED L h o
7o (B D IEH LAY,

(15)  John didn’t sleep until midnight.

() EHEPFETYT o LiRoTW/zbiFTid
%\,

(b) EXRFETIED LAaro7,
(Until midnight John didn’t sleep. =
Not until midnight did John sleep.)

(5} He didn’t listen to you on purpose.

(a) It was not on purpose that he lis-
tened to you.

(b) It was on purpose that he didn’t
listen to you.

Db, (a)iZPPA notDEREIAC, (DIt fE
M DI H B &) G & > THEBR M
HLAZERRTE, 72721, (QDOFHEAT
(&, PPIIEERMotDERIZLRLDT, YR
TEAFIIL BEMDEH 5,

(7 He didn’t throw up his job (in order)
to please his wife.

(a) It was not (in order) to please his

wife that he threw up his job.

(b) It was (in order) to please his
wife that he didn’t throw up his job.

(18) T didn’t go because I was afraid.
(a) ZThnhsiTolzDTidR v,
(S5 ; VP—V PP]
(b) ThWunroiThieh o7,
- [VP&HE ; So—So PP]
OB 2 H & (T :78) 124 - TR
HIXHLDOED TH B,

(a) So

/
NP Neg VP

1t S not be

AN

I went because
I was afraid

NP Neg VP because I

‘ was afraid

I not go

8.9 TEH+MEBAXMEN (EEEE)

HEAF L —fBo¥ERER2 L, >0
HERSGEFERET LBO, ZFH DM
BIERIB D 1 6 B T X B B 7 EIRIRR
L TIZBIRT 5,

(199 Not all of the students knew many
of the answers.

(a) Some of the students didn’t know

many of the answers.

(b) There were many of the answers

that not all of the students knew.
(m) Many people didn’t show up on
several occasions.

(a) On several occasions many people

didn’t show up.

(b) There were many people who didn’t

show up on several occasions.
{m) Not

several occasions.

many people showed up on
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(a) On

showed up.

several occasions few people

(b) There weren’t many people who
showed up on several occasions.
(im(a) Not all people are always happy.
=Some people are not always happy.
=There are some people who are

sometimes unhappy.

(b) Not always are all people happy.
=There are some occasions when
some people are unhappy.

(¢) All people are not always happy.
=(a) [notAtalliZ % & ¥ % Fi ]
=Nobody is always happy. [not#*
VPIZh b & 5]

() He wusually doesn’t speak for two
hours.

(@) 529 2EEM L X5 Z &d%
[usually [doesn’t][speak for two
hours]]

(b) 2MFHIOZ DRI ENED)
[usually [ doesn't speak ] [ for two
hours] ]

Cf. He doesn’t usually speak for two
hours. = (1%32) [doesn’t usually [speak
for two hours]]

$H B Bl Zusually 12, normally, generally

s LR, not DFEICE L/ E EThnot D
TR & 51T 7\

Ex. The jewel isn’t usually (usually

isn’t, is usually not ) found 1in

ordinary stores.
8.10 BEFEH+(already, only, still)

() He doesn’t love her already.

(a) HHPREEL TV,
he doesn’t love her.)

(b) HIAWEKEITEIIHh->TE, L)

&Ly, (It's not the case that

he loves her already.)

(Already

(ta) Tldalready DIEFI D 13 5 2Snot D fF
i )b 0a L, BEPmEICEINTY
LIRT, 20 LIERNO/8T 7L =X
RN T 5, (u) OBEIRIL, A2 “ He
loves her already” & E-7D%%TT,
(BB L] IZEHET A LD R E I MmEl
MWICHWSNAEEA S, ZO8E, already
Aot IERIICE T NS Z LT ek e
ELTWLIENLHLNTH A,

() John doesn’t only love Mary.

(a) John doesn’t love only Mary.

[Manylli#i %@ &, FHH]

(b) John doesn’t only love Mary. He

also respects her, etc.

AlEonlyl 3 2 DHIZKD T TOMLEE
A4 AIENTESL, MarylZHE iz &
X s ) O FEFR A, lovell HE a1 & B (1500
A L Tnb I &
(%) John isn’t here still.

(a) JIzF7ErRELV,

been here up till now.)

(b) JixdH 2 ZiZidwipy

here any more.)

(%a)Dnot hereldstillOFER D FiZdH b
[still [not [herell] ,(#%b)?still hereidnot
ORI OHIZH S [not [still [herel]ls

Wb,

(John hasn't

v, (John isn't

8.11 BHEHS (and, or)

() John and Bill didn’t go to the store.
(a) Either John didn’t go to the store
or Bill didn't go to the store.
(b) Neither John nor Bill went to the
store.
(712)D & RS B i%w 1213, (i Dand
BB A EE LY AR TWIEU)
— BT PEESNS LV g%’iﬁﬁﬁﬁ
%o (a)DoridHEy, 2EH &L %75‘*7571
FIAPETH->T, MAFELLEIIRLI L%
VW) ERICEE OGN D, 0 DFADIE
Hr L, andlZi&EE e (, RO TEHMT



Syntactical Ambiguity 122wV T (2) 75

b5,
() T didn’t tell
stories.
(a) I didn’t tell John those stories and
I didn’t tell Bill those stories.
(b) T didn’t tell John those stories or
I didn’t tell Bill those stories.

John or Bill those

=

eyt

o
H

8.12 BTEE

(1))
often. ( # Very often John didn’t
obey the law.)

John didn’t obey the law very

(b) John disobeyed the law very often.
(= Very John
(=didn’t obey) the law.)

(Ba)Dvery oftenidnotDIEH % %11 5% &

I 5 RPN TS S5, (@I Bv T,
very oftenid &5 7%E ks disobey IZEH F N5 &
EDOFHZZT Tz,

8 EOHDOEH

—ODHEFHFIIH LT, FHEELCVDYW D
A EF (Suprasegmental phoneme) #
542528128 0T, HAIZZ2T 22D
RLLEREFF-ELIENTEDL, ZODH
SGUIMEER S, B s ae i+ o &1
LoT, ZHLEREECHoTWALABOTE
BElIRRINLILIIh DN, —DODEE
HELLT, =, Z0oMEETTE
() Who are you calling, Nancy?

(@) Fri—, #HEFATNED?

(b) FHEIFATVDED? F 2T —hwn?

Cf. Who are you calling--your hasband?

[MEBE S 34 L vy ]
(3) The superintendent (,) says the teach-

often disobeyed

er (,)is a fool.

(a) BFeld, TOHEMPBED %072
EEoTWA,
(b) ZOHANE, REFBEDOLVWALIL
EoTwh,
(%) Would you like tea or coffee?
(@) T4 —2LE¥p, ghedba—e—
LEI D
(b) BEII——%2FLEIFD TTH,
W2, BRII—-FWTH-oTY, B o/
ALWME 2 B DI N TV A ERENH S =
ELMBELTBEZV, BIZIEB)DOFED L
DL, bHHA, AROFRHEHZRR 2 b
DTH5b,

(8) A rolling stone gathers no moss.
0 &% U

[BEERMEBR RBLOFEM ] & v ) BIEAVRT
EBY, HBRSIERE - A - XDELVICE
W, RIS b TWwhE, 2O
Eid, XDLXWIZBR- T, Btk UAEs
DEMULREIRE LA —%357255TL+45
MRBEIATHD, ZOHRIIKERZ
KU, SUEHEREA EOREIAICE > TV B HE
DFERL2ELOELDTHAI) D, &
b, FEFOBEKRER LY TR L7500 4 2
FEMSEELZDIIRLTALD2L ) THAH,
B S OMEOM LR, Y &), MED
BEH, L CERYMOLERD, JIOADITZ
WEESLDER DR 22 ETHLI,

HONUET ISR SR L7225, i A$
<, & (1980), KH (1980) mmEIz&
VEIAENE Mol ELICEEL, BESR
H 2 FOMK & % &% CTexhaustivelZlif - T
WA RT, A Rikv, KiEx L, #h
WHARNWEEERBOLB Y 2 F 572108 %
TNHDOTH 5B,
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On Syntactical Ambiguity (2)
— Varieties of Ambiguity of English IIxpressions V —

Kiyoharu NAKANO
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ABSTRACT

This paper, as in the previous one (Bulletin of Takaoka National College, Vol.5),
deals with ambiguity of English on the sentential level, which is caused by different
factors, such as referential scope and its focus, combination of one quantifier with an-
other, interaction of negatives on quantifiers, adverbs, etc. There are also sentences
where it 1s difficult to decide whether the connectors used in them are conjunctions or
relatives.

This is the last of my four serial papers dealing with various aspects of ambiguity

of English expressions.

KEY WORDS
Ambiguity, Quantifier, Referential scope, Comparative, Trace, Structural preference,

Negation, Relation



